BT & A HEHEUAO ErRk25E12 A 1BRE
BT % HF 8| A a ] =3

= B T # # 157,032 364,963 172,137 192,826
S5 5 4t A 1,422 2,854 1,269 1,585
[ X] 6,000 13,363 6,344 7,019
JH B8 K HT 39 75 33 42
8 _ W7 53 111 50 61
a3 H R AT 29 54 31 23
b ¥ HEET 19 41 19 22
JILAARET 89 168 75 93
5 /N ERHET 105 192 83 109
ch fiE] P4 ET 41 80 33 47
EXigEdi) 91 162 73 89
B A1 7K BT 109 223 105 118
it =] HT 226 520 237 283
FHHET 78 171 77 94
JI| EHT 670 1,374 633 741
3 2 PR ET 144 252 124 128
JL {E P BT 33 93 43 50
SIEZKHET 55 116 48 68
Z& B FFHT 42 100 53 47
7K P HET 68 153 66 87
I 2= [T AT 20 39 19 20
A% P HT 594 1,240 628 612
= ERET 336 704 344 360
HFW—TH 319 752 369 383
FILW=TH 161 423 203 220
FW=TH 275 608 280 328
FUHTH 146 413 205 208
SWETH 156 414 200 214
HWATH 211 511 232 279
FWETH 337 771 362 409
FW/N\THE 316 763 355 408
EEE&—TH 2 5 4 1
EREZTH 495 1,238 595 643
ERE=TH 308 717 327 390
R EFRET 433 880 438 442
[RE#X] 6,248 13,890 6,544 7,346
e t= R mT 24 64 26 38
T FHT 16 41 19 22
e HT 29 63 30 33
SEHT 49 129 55 74
NN T 21 56 24 32
f2 %5 [ HT 40 103 47 56
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BT £ HF 8| A A Es =3
i B2 K BT 18 38 18 20
G FE T 29 69 32 37
JIlZ £ ZRIRET 41 98 40 58
JIlz BT 22 40 22 18
i tth 2 R HET 53 108 A1 67
Fh 5T T 29 52 23 29
B 41 78 33 45
EE > P HT 26 69 29 40
= R iR ET 12 22 9 13
hoSFET 1,033 2,252 1,044 1,208
Fahc SFET 91 183 88 95
= A BT 1,430 3,279 1,559 1,720
=R 622 1,432 694 738
i FHE—TH 382 822 382 440
RicFETZTH 151 297 135 162
RALFRI=TH 366 665 289 376
miFE—TH 166 370 177 193
miLFAI=TH 435 1,052 512 540
EiFEI=TH 469 1,107 525 582
BT TH 280 671 320 351
EiRFETATH 373 730 371 359
[(FE#X]) 8,592 18,445 8,781 9,664
th ¥ E HT 29 63 28 35
< HTEHT 14 39 17 22
e B 3F T 46 103 45 58
H _EHT 28 79 40 39
sapun:il] 271 654 311 343
Bt X ET 452 993 489 504
i = BT 31 69 33 36
= {E P BT 41 89 38 51
PE 5 HT 22 45 25 20
75 $T EET 35 85 39 46
R AR HT 108 198 95 103
ng )| |7 33 74 33 41
1E =T 20 47 22 25
REEH 149 235 121 114
Jb R AR ET 129 249 114 135
A IR AR HT 640 1,439 681 758
FR A& dth 75 SR (R BT 98 242 115 127
R A& h 75 7o (R BT 23 49 22 27
A 35k P T 101 198 91 107
Ealalill 9 22 11 11
AR HT 84 155 77 78
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BT £ HF 8| A A Es =3
EER=T 26 42 21 21
/INKERET 20 50 23 27
A FTHT 72 129 61 68
HNET 33 40 21 19
KFRHET 687 1,546 760 786
RFZFEET 364 758 354 404
il ual:i] 1,279 2,749 1,282 1,467
A ERT 114 222 93 129
24 BT 572 1,085 492 593
A B R ET 191 443 226 217
FEKHT 572 1,030 504 526
FAREE—TH 685 1,622 755 867
FAREET=TH 190 395 208 187
BREET=TH 281 642 287 355
FAREETETH 495 1,103 541 562
BREETATH 207 527 249 278
FARRETRTH 34 69 35 34
BREETETH 407 866 422 444
[#EHHX] 1,217 2,431 1,047 1,384
BL3F PRHET 40 75 31 44
75 35 #RHET 43 83 35 48
4 {E P ET 42 95 43 52
A2 BT 7 19 7 12
A T T 46 100 40 60
JC T 21 39 15 24
YA HT 22 62 33 29
¥& 3 H7 6 15 9 6
B B B T 71 146 62 84
St BARE AT 11 31 15 16
T{ENFS T 36 70 33 37
%5 Fa P5e T 40 77 32 45
JLZ=Hy 42 96 42 54
Bl =F /5 =FHT 7 17 9 8
Bk P T 96 170 70 100
i-zansl 64 142 64 78
A iRET 44 70 25 45
AR EET 77 163 73 90
k=0T 21 55 23 32
B FSFHT 53 80 32 48
sl 46 81 33 48
Jt =1 BT 25 58 30 28
AFSrHET 13 34 16 18
/NI BT 28 54 22 32
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BT £ HF 8| A A Es =3
7o 35 P BT 32 66 30 36
Jt &l = HT 22 54 27 27
5 15 HT 1 1 1
B[] EE T 24 43 18 25
B [A) R ET 11 30 15 15
7 {5 HT 4 7 3 4
/NFRHET 57 93 23 70
FRNERET 41 74 36 38
= X HET 30 48 15 33
£ E T 44 90 41 49
B RERHET 50 93 45 48
[{ERX] 7,709 16,544 7,644 8,900
rp 5 T 29 73 36 37
B [ L ET 31 54 25 29
K= ILAT 20 34 12 22
REZLIZEHRAT 60 122 51 71
1 E T 33 67 28 39
16 Z BT 46 86 28 58
=LA 12 26 9 17
o = ET 42 75 35 40
¥ HZE iR ET 14 33 15 18
Jt/ERET 62 83 23 60
I H AT 49 75 32 43
a3 H h AT 36 63 33 30
v B FEAT 33 65 26 39
Jt 3 H A HT 33 69 29 40
2 EHAEHET 127 137 7 130
R/ R BT 11 20 7 13
1% iR AT 28 68 32 36
| == ) 14 25 13 12
= X T 90 173 83 90
75 £ £ HT 230 437 214 223
it )11 3w BT 48 105 49 56
L LR HT 114 237 95 142
78 517K BT 100 202 83 119
% P HET 69 133 52 81
Mt = BT 47 95 44 51
BRZHT 21 36 17 19
P E RS ATHET 13 23 9 14
T TE R ET 75 191 90 101
(=l 18 41 16 25
A5 IRET 85 149 67 82
i £ BT 2 4 2 2
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£ H &

i) 21 A A Es =S
s BT 57 111 53 58
Jt T ET 238 521 242 279
SREFET 1,847 4,172 2,037 2,135
EEERL—TH 108 277 121 156
EEERWU=TH 15 25 10 15
EEERLIETH 2 6 2 4
RIS HT 3,648 7,919 3,680 4239
=1RHET 170 445 210 235
= H B T 32 67 27 40
[KE#[X] 10,590 21,684 10,136 11,548
=3 647 1,407 663 744
=&KX 569 1,288 590 698
=5 I 7HET 152 334 154 180
= &M 647 1,304 608 696
T=5H] 90 199 106 93
St FHT 54 113 49 64
78 2 BR BT 90 122 52 70
3H B 3t 75 BT 3 9 6 3
JH B BT 215 383 182 201
=N 766 1,483 666 817
=K =EHIAT 248 520 232 288
=&iR)IET 432 912 447 465
=EKX=EH 377 818 386 432
KR=EB—TH 650 1,275 582 693
RKERZTH 1,139 2,536 1,180 1,356
KEB=TH 866 1,653 818 835
RKEHETH 1,052 2,253 1,053 1,200
KEBAETH 54 105 49 56
KEHEIATH 185 284 145 139
KEEBtTH 159 315 141 174
pabuni] 285 562 254 308
B —TH 226 470 226 244
BT —TH 469 967 445 522
ZitBI=TH 627 1,223 587 636
ZETETH 588 1,149 515 634
[(XZFihX] 4,858 11,603 5571 6,032
KEFH 126 396 209 187
ZNE—TH 365 937 451 486
TNDE_TH 323 778 376 402
ZNDE=TH 403 951 438 513
ZRDFERHAET 111 286 147 139
Pu & K ER A T 329 758 355 403
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i) # H & ’g“ﬂz A A Es =S
A ET 400 1,045 492 553
SEHT 48 128 58 70
INE&—TEH 180 402 187 215
J\&_TBH 2 7 3 4
J\E=TH 23 45 27 18
INERTH 123 253 135 118
RKELEFHE —TH 116 333 153 180
KEFHB=TH 133 372 182 190
KELZF—TH 272 563 269 294
KEZF-TH 277 700 323 377
KEZF=TH 382 830 406 424
KELZFMNTH 236 598 283 315
KEFRTH 324 737 359 378
KRELEFATH 364 798 386 412
X&EFtTH 321 686 332 354
[#REhih X ] 13,705 32,284 15,373 16,911
FEX£—TH 163 359 152 207
—TH 277 590 275 315
FE&=TH 290 704 335 369
JExt AL HT 197 417 199 218
JE it P HT 228 490 237 253
JExtFgHT 137 294 145 149
JE it HT 52 177 99 78
JExt FaHET 81 160 71 89
L) 126 295 123 172
Jt T ET 13 22 11 11
A FTHT 54 169 87 82
{&E %2 HT 951 2177 1,043 1,134
FEBE—TH 366 938 457 481
EER_-TH 218 476 215 261
FKHT 200 506 239 267
IRIEHT 146 383 177 206
HEEM—TH 460 1,145 547 598
FEM_TH 160 474 235 239
ﬁ%ET 242 606 285 321
/\x TH 700 1,609 776 833
/\* —TH 375 1,019 497 522
NE=TH 272 613 285 328
ANEXRET—TH 108 238 109 129
NEHZREIZTH 195 459 218 241
NEHZRET=TH 140 355 173 182
&0 99 275 137 138
&R —TH 705 1,650 765 885
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&A= TH 2 7 3 4
t%—TH 646 1,449 703 746
+t&_-TH 23 23 10 13
75/ R HT 316 699 318 381
L EH 137 311 142 169
—H—TH 120 249 107 142
—&HB_—TH 165 336 152 184
—&B=TH 81 211 92 119
NER—TH 382 819 378 441
INER_TH 162 452 216 236
NEB=TH 721 1,744 810 934
REBAETH 250 540 257 283
NEBATH 326 826 402 424
ANEABATHE 219 605 284 321
—&EXKBmE—TH 48 87 45 42
—E&EXBE_TH 47 113 54 59
—EXKHBE=TH 52 110 50 60
“EKREBENETH 61 152 73 79
—EXBREAETH 115 243 125 118
=&XKK—TH 334 646 338 308
=&£KXKKZTH 71 172 88 84
=£KXKKR=TH 115 261 140 121
=& KKRETH 111 231 109 122
=XKEBATH 133 314 163 151
mEXK—TH 959 2,060 976 1,084
MEXK=-TH 339 875 421 454
MEXK=TH 377 996 473 523
MEXRRMUTH 236 588 282 306
MEXKRATH 202 565 270 295
[FE3iihX] 8,175 20,419 9,793 10,626
REE 1,575 4,491 2,238 2,253
h LT 1,738 4,395 2,125 2,270
LLI pEE BT 1,282 2,997 1,428 1,569
FN 4% BT 1,532 3,744 1,736 2,008
WEER AR 435 891 413 478
WE=F1ET—TH 233 522 252 270
WE=FIET=TH 169 412 201 211
TN T ET 144 344 171 173
HEBR—TH 560 1,405 663 742
HER_TH 358 867 399 468
B s T 149 351 167 184
[(RE#[X] 12,822 28,382 13,402 14,980
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i) # HF 8| A A Es =S
PR F/IMAHET 185 315 144 171
5 KT HET 230 446 218 228
P5 R FFhith iT 219 581 276 305
A RIFEIXET 128 370 174 196
ARXFEYE 213 455 221 234
5 K3 HT 53 100 45 55
= R ET 1,528 3,587 1,724 1,863
Ead:] 647 1,362 657 705
=E5—TH 150 363 168 195
=EH_-TH 169 406 189 217
EE=5=TH 188 406 206 200
EERMNTH 115 305 152 153
& A ET 171 491 241 250
= kM7 137 343 172 171
AHBT—TH 95 223 97 126
AHB-TH 199 471 231 240
AHABI=TH 170 437 199 238
A HETETH 62 163 84 79
AHABTATH 248 611 285 326
FARFHEET—TH 365 821 369 452
FARFHERETZTH 15 33 13 20
FARFHHET—TH 484 1,074 519 555
FARFHETZTH 166 357 166 191
PR FAHT 491 1,076 479 597
78 K 3 < HT 76 136 60 76
PR F AT 235 412 175 237
ARFERET—TH 885 1,711 770 941
AAFEREIZTH 220 475 224 251
BAFIET—TH 271 569 275 294
AAFIRI=TH 119 307 152 155
BAFIE=TH 163 252 124 128
FARXFIETETH 181 371 165 206
FARXFZH—TH 311 625 283 342
FARFSHZTH 269 569 279 290
AXFHFHE—TH 200 418 203 215
AAFHEMHEIZTH 132 275 128 147
AAXFEEFH—TH 162 365 182 183
ARXFEIEI=TH 15 17 11 6
BAXFHFEHE—TH 278 496 230 266
BAAXFHFEHEZTH 213 469 226 243
=X—TH 319 700 334 366
FE_-TH 294 624 320 304
EE=TH 240 523 248 275
TXMETH 229 500 224 276
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BT £ HF 8| A A Es =3
=RATH 27 53 27 26
EM—TH 399 881 409 472
EW=TH 314 749 334 415
EM=TH 280 637 295 342
EMMTHE 244 643 311 332
EMARTH 318 809 384 425
(o8t X] 4,091 9,477 4,398 5,079
HOOHME—TH 440 943 406 537
HOHME_TH 386 813 371 442
HOOHME=TH 382 849 414 435
HOHMEET B 265 589 262 327
HOOHMEATH 313 712 333 379
HPeHMEESRTH 646 1,457 666 791
HOOHMELETH 366 984 471 513
HPeHitE/\TH 199 532 250 282
HroHimit—TH 406 993 476 517
HPeHtdk=TH 185 447 193 254
HrHMIL=TH 503 1,158 556 602
[ZFE#X] 11,363 27,064 12,567 14,497
FEE—TH 313 707 325 382
FEFE_-TH 394 972 430 542
FEmE=TH 357 772 347 425
FEXFIET—TH 387 923 424 499
FEXFET=TH 469 1,087 497 590
FEXFME=TH 349 865 405 460
FEXFETET B 317 752 327 425
FEXMEATH 406 996 494 502
FEXFETARTH 1,064 2,950 1,439 1,511
*EI—TH 254 589 272 317
FEIE-TH 288 647 272 375
&5 HHET 861 1,828 838 990
FEEHTA—TH 395 950 457 493
FEFFABTEI=TH 491 1,267 604 663
e EL 570 930 388 542
#o S PHAET 1,249 2814 1,297 1,517
BZEE-—TH 490 1,204 568 636
BEE_-ZTH 159 406 184 222
BER=TH 150 374 186 188
BEENTH 192 501 244 257
BERATH 319 793 378 415
hILUBETE—TH 102 265 125 140
bl LUETFE=TH 309 843 400 443
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hIUETFE=TH 456 1,084 499 585
h I LUETFRMNT B 365 889 409 480
FHHBET—TH 292 780 359 421
AR —TH 365 876 399 477
[y EH#hX] 10,212 24,156 11,137 13,019
ZEyE—TH 76 181 89 92
Z2E~+HE_TH 101 245 98 147
ZE~+E=TH 181 407 160 247
ZE,sEMNTH 163 383 181 202
ZEsERTH 301 757 336 421
BE~rENRTH 218 515 227 288
BAEXrE 460 1,048 516 532
h&EEyE—TH 2,099 4,020 1,823 2,197
h&E,sE-TH 207 495 237 258
h&E~sE=TH 132 388 196 192
h&ESEMTH 779 2,196 1,049 1,147
h&EsERTH 1 3 1 2
h&ESENTH 536 1,370 630 740
mEErE—TH 397 955 444 511
mEEXyEZTH 631 1,365 638 727
mEESrE=TH 248 565 261 304
AEEsyEMTH 355 851 381 470
mEEyERTH 286 680 302 378
AEETENRTH 472 1,179 541 638
mEErEETH 214 523 248 275
AEEsE/N\TH 406 968 435 533
REE~yE—TH 172 424 202 222
HEESYEZTH 263 629 290 339
HExESFE=TH 29 73 33 40
REE~sENTH 174 433 200 233
BEE~SERATH 200 475 216 259
REES-EARTH 190 505 232 273
t&EEyE—TH 119 299 133 166
tEXyEZTH 111 304 148 156
t&ErE=TH 205 612 284 328
t&EELEMTH 152 365 159 206
t&ErERTH 165 421 198 223
t&ErEARTH 169 522 249 273
[EHHhX) 23,046 57,140 26,869 30,271
—4—TH 38 96 44 52
—Z_-TH 424 1,182 563 619
—&=TH 290 780 378 402
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T HF 8| A A Es =3

—4MTH 198 507 231 276
—&FATH 31 74 33 41
—4RTH 7 21 8 13
—4%tTH 1 2 1 1
—AFH—TH 37 116 58 58
—ZEH_-TH 50 156 66 90
— A RHET 74 192 82 110
—4HT 1 1 1
== 420 1,159 541 618
=A=-TH 403 1,105 571 534
=¥W=TH 184 440 199 241
=M TH 114 379 175 204
= HtEHT 210 600 294 306
EHTE—TH 948 2,173 1,017 1,156
EHTTAI—TH 278 505 222 283
EHITAI=TH 112 229 109 120
EHTTETET B 277 658 300 358
=Wy e 285 690 311 379
=Ei)IIFE—TH 453 1,169 555 614
EH)IIFE=_TH 294 915 452 463
ch T 985 2,689 1,296 1,393
FIRWU—TH 572 1,510 708 802
FIFEIL=_TH 372 916 439 477
FIFEIL=TH 260 613 279 334
AWL—TH 243 615 290 325
AILW=TH 283 724 337 387
EfRE 301 700 322 378
KIZHT 291 335 140 195
= ad=) 389 904 425 479
B/ KE—TH 598 1,514 707 807
B/ KEZTH 334 821 384 437
B/ RKE=ZTH 361 902 419 483
B/ RKEWETH 108 268 132 136
= = Hr HET 373 1,072 508 564
FE FR A ET 143 376 183 193
¥ ET 95 214 114 100
A KHT 151 472 224 248
AFNEET 130 332 159 173
FxE—TH 358 885 416 469
FH~EZTH 350 780 347 433
FR5yE=TH 290 705 313 392
HiEE—TH 83 195 94 101
={EE5"TH 76 173 78 95
HFEE=TH 105 221 104 117
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HT%/‘J'IH'H #BRUAN TRi25E 12 A1 BEE
it F #

T A A Es =3
ERE—T E 258 608 289 319
EER_TH 333 823 357 466
ERBT=TH 447 1,079 514 565
ERETETH 1,248 2,185 1,032 1,153
AFRyE—TH 238 609 297 312
BAFHKyEZTH 267 684 336 348
BAFKsE=TH 237 583 271 312
TRk E—TH 169 412 183 229
FR&HEyE=TH 178 462 225 237
FEfKrE=TH 166 423 196 227
FEHF—TH 59 138 66 72
FEF=-TH 40 86 38 48
F*EHR=TH 259 636 287 349
FEFETH 242 520 231 289
FEHRFHRTH 437 1,303 645 658
FIRUFE—TH 191 651 330 321
FIFWLWA—TH 4 10 6 4
FIRIUE—TH 138 336 152 184
FIFWUE—TH 229 546 259 287
FIFEIUE=TH 171 442 185 257
FIF UM T H 197 491 226 265
cANEENNE 177 444 208 236
FIFWUMETH 169 405 180 225
FIFEILATH 128 299 141 158
FIFIUANTH 408 866 393 473
EHid—TH 743 1,881 896 985
EHI_TH 417 1,012 466 546
EE.TE:II:—T = 962 2,456 1,171 1,285
WiEEs—TH 168 376 150 226
N = = 270 624 285 339
WEe=TH 198 452 206 246
WIEElMTH 188 513 251 262
=M—TH 258 641 293 348
=M_-TH 90 224 103 121
=Ht=TH 270 693 330 363
=M TH 29 60 32 28
=H#ARTH 339 1,115 550 565
=HmRTH 169 478 233 245
=mttTH 10 32 15 17
T iZ 1L P BT 165 457 212 245
[#Th#h X ] 2,213 5,591 2,661 2,930
#HI—TH 614 1,183 568 615
MIH_TH 203 491 224 267

_12_




ET% Al w2 B O N TRi25E 12 A1 BEE
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#HIH=TH 282 748 353 395
MM TH 366 979 470 509
#HIHATH 316 862 401 461
#IRTH 432 1,328 645 683
[ERHEX] 2,452 5,307 2,388 2,919
£R=—TEH 7 18 9 9
£ER=TH 1,336 2,515 1,098 1,417
£FR=TH 364 882 410 472
AERMTH 238 572 261 311
EFRZATH 507 1,320 610 710
[REH#X] 2,648 6,706 3,143 3,563
X#E—TEH 367 1,011 489 522
X¥#_TH 213 510 227 283
L#=TH 404 986 451 535
REMTH 331 833 394 439
kERTH 1,015 2,505 1,183 1,322
KENRTH 318 861 399 462
[EFR#X] 2,251 6,061 2,898 3,163
ER—TH 400 1,019 485 534
ER=TH 876 2,398 1,143 1,255
ER=TH 727 1,949 930 1,019
ERIETH 243 680 334 346
ERATH 5 15 6 9
[Ri#h[X] 5,067 10,633 5,128 5,505
HALEHT 3,778 7,869 3,795 4,074
75 LSBT 133 358 168 190
A HET 564 1,214 581 633
BAEEI—TH 110 234 116 118
AL =TH 226 416 207 209
FAEEI=TH 253 538 259 279
FAAEEIETH 2 2 1 1
FAEETATH 1 2 1 1
[E8;E#h[X] 3,908 9,371 4,582 4,789
Jt 7k FEHET 603 1574 766 808
bz FERT 266 667 332 335
FAJK FHET 772 1,821 871 950
R E T 1,879 4,497 2,205 2,292
H = 2T 248 605 274 331
2 ERBI—TH 110 162 103 59
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dtz2ERBET=TH 30 45 31 14
[ X] 3,298 7,047 3,360 3,687
o T 2,167 4526 2,134 2,392
FEFHT 4 4 2 2
J\EHT 63 182 83 99
SRR HET 2 3 2 1
EESdEL 242 513 252 261
i [ T 253 659 330 329
EH—TH 205 385 182 203
BH_-TH 179 348 170 178
BMH=TH 62 181 83 98
HMHITH 6 11 6 5
¥MARTH 97 187 93 94
MHFATH 13 30 15 15
BHEETH 5 18 8 10
[(FfEHhX] 1,477 3,472 1,675 1,797
FEZEHRT 172 431 198 233
;i FH BT 60 164 77 87
LLI BT 274 758 373 385
S T 554 1,208 617 591
SEEMT 47 94 42 52
FH T 370 817 368 449
[FEFEHX] 315 867 419 448
KEHT 50 129 58 71
ch K BT 48 144 75 69
I 2 JF T 12 37 19 18
FAVE ERT 11 25 13 12
L ERT 42 118 62 56
E IR ILHET 17 53 26 27
= ba BT 117 313 146 167
& 2T 18 48 20 28
[HEH#X] 767 1,881 901 980
& HET 32 97 51 46
2 1ar ET 69 130 47 83
% H [F HT 99 281 138 143
RAH 33 87 42 45
Al / 1T 119 162 95 67
A R BT 37 83 37 46
th 2 EHT 31 98 49 49
th E HT 9 21 9 12
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i) # HF 8| A A Es =S
KEFHT 18 47 19 28
=K 32 93 42 51
2T 21 63 28 35
1Lk FA T 19 41 19 22
#0 T 29 94 45 49
ZBLLHET 21 58 26 32
Z ZMET 29 79 38 41
HIEZ& B $7HT 26 66 32 34
7K T 116 317 149 168
7| BT BT 27 64 35 29
CIESTEY) 454 1,208 567 641
A0 A BT 95 265 120 145
ESN) 81 151 73 78
E6l 4 [ HT 47 141 68 73
& 1h AT 107 292 138 154
KIRHET 44 131 61 70
FH BT 60 169 82 87
Jt B7 LI T 20 59 25 34
[RAE#IX ] 413 1,064 482 582
RANA Hy 154 397 178 219
B [i HT 122 303 136 167
KFEEHT 36 111 56 55
B LLET 58 144 63 81
KE L ET 43 109 49 60
[GRE#X] 342 841 420 421
=ML 122 322 152 170
A £ HT 35 92 45 47
Jt AT HT 30 66 32 34
=] H BT 2 4 2 2
5 KET 27 68 37 31
A TR EHET 46 102 50 52
;% FRHET 16 36 21 15
BS ) I[ BT 18 50 25 25
oh /I T 46 101 56 45
CGIET=Y 197 485 238 247
¥ 1| i BT 28 75 33 42
FE %K) 1| ET 31 72 37 35
IEX 21 52 24 28
T3 IET 109 259 131 128
1 [ BT 8 27 13 14
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[A~i#EihX] 501 1572 759 813
Ay #RT 141 434 220 214
Ay 3EELL 122 367 162 205
Ar#EES| 52 174 82 92
Ari#is 19 68 34 34
A~ ¥ A3 44 137 65 72
Ay kTR 123 392 196 196
[#R %R #h X ] 2,101 5,975 2,910 3,065
ERAREE 2 EHT 71 196 89 107
ZN 4R FA [if] BT 18 68 28 40
Sl 5 BT 16 56 26 30
#N 4R & A BT 230 493 209 284
REAEHT 150 403 206 197
R 4B /ML BT 58 181 86 95
ZR4R4E AT T 34 111 52 59
£R AR M Ly BT 161 516 245 271
M SLAE 218 634 324 310
=Rt 347 996 495 501
FHHT 323 893 461 432
&1+ Al A BT 107 280 147 133
INEHT 95 293 133 160
AT 67 223 113 110
TiRJIET 50 168 81 87
FiHT 79 276 128 148
ER4[ 5 15 BT 77 188 87 101
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